B®EaL V)P EEEY DM EZ M (B—R2ZHE)

A E NMNZE R
2 i 2 ke BEEOB

=

B ® &% A B 1 46 &£ 11 R
Z W & B £ gk 25 &£ 3 A
A & % &

25 o = LEBEHATRBBED

T S



-

HiR

EEER

Al

5

HEOBEE (mm X 1000)

EEQWiE R _(mm X 1000)

FED A mm

EEQ) Y]

& mm

*5 f £ B¥ ¥ 1%
*E@*E#,. B (mm) D (mm) %Fﬁ'%& a ::@*E*E T (mm) L (mm) @Fﬁ'%&
ho/és<020) g Awr 8
5&15& 5 B A% 1< B2 0
AU 0 0
Aw2
<
4 |2 o= 0! waiie 0
Ac 0 0
Aws
e o] wnle 3
Asc 0 0
Awi
<
T U mET .
5 = 500 500 24 6,000 Aws 120 1,800 1 216
2<ho/D=6MD 450 450 7 1,418 150 2,100 1 315
il - Rl EE -
BT 0 0
Ac 0 Aws 120 4,300 1 516
X ho/D>6M 0| smim 150 4,300 1 645
o IR 0 - 0
T ho/éssczo) g Awr 8
YA 0 B A% 1< B2 0
) = 550 500 24 6,600 Awo 120 3,100 1 372
2<ho/D=6MD 450 450 7 1,418 180 2,100 1 378
il : ARt EE :
IR 0 0
Ac 0 Aws 120 6,100 1 732
ho/D>6® 0l wmiem 180 4,300 1 774
JB T4 0 - 0
h/gs<czo) g Awr 8
°ﬁ5& 5 B 4% 1< B2 5
= 600 500 23 6,900 Aws 180 2,100 1 378
<
1 2<h;£lo+j;o) 450 450 8 1,628 A 8
Ac 0 Aws 120 2,900 1 348
ho/D>6MD 0l srim 180 4,300 1 774
JHITEE 0 = 0
Asc 0 0
Awi
<
h°g$'?ﬁ—f;’ o mEA e g
4 |2<ho/D=6D 8 Aw? 8
Prares 0 AR EE 0
Ac 0 0
Aws
ot o] wale :
Asc 0 Awn 150 45,000 1 6,750
ho/D=2M 0 0
= B A% 1< B2
JhIL 4 0 0
= 450 450 16 3,240 Aws 150 11,500 1 1,725
<
3 |2 D=60 00 i e 0
Ac 0 Aws 120 7,200 1 864
Y ho/D>6MD 0l serrime 150 7,800 1 1,170
2E T 0 0
B | oo o] A N 7 X0 2580
°ﬁfﬁ 5 TR A £ BE - =5
2 |acho/p <60 502503 o Y o 2
;ﬁﬁTi 0 ARl EE 0
Ac 0 Aws 120 3,100 1 972
ho/D>6®M 0 R 180 6,700 1 1,206
ey o] HeLE 0
Asc 0 Awn 150 22,500 1 3,375
hogil?éé:_(]) g T B 180 22,500 1 4,058
AL
= 500 600 16 4,800 Aws 150 11,500 1 1,725
<
1|2t D=60 O i e 0
Ac 0 Aws 120 7,200 1 864
ho/D>6MD Ol arriee 180 6,700 1 1,206
T AR 0 F= 0




CBEEHEX

CBEDHEZEEE (X 1000) o UL
#0| B [ momm | CBEOTEM [o 1 7T B DR
= TNERR t (mm) L (mm) 5
Awb: g
AR B 5 RCE#{RE 1/3
0
Awb2
4| wane 0
Moy W ; = CBEQBERE (1 X 1000)
= 0 o | Awbi Awb2 Awbs
e 0 TR | RERNE | BLUE
TR 0 x 4 0 0 0
e ]
3 | mriee 0 1 0 0 0
0 3 0 0 0
Awbs 3
X fErLE 2 M 2 2 2
i 0
4= Awb1
T TR 5 0
2 ﬁ@?ﬁ}% . 8 = CBEDQEAMBMA _(N)
* == 0 M e Awb1 Awb2 Awb3
e 0 TR R | RRIfTE | BLUE
LB 0 < 4 0.00 0.00 0.00
= 0 o K 0.00 0.00 0.00
b 0 % 2 0.00 0.00 0.00
0 1 0.00 0.00 0.00
IR E 0 v 4 0.00 0.00 0.00
o Y
= 0 S 0.00 0.00 0.00
0
Awbs
HLE -
Anbr 5 CBEOE LB A OB
AR B 0 Vil e = N)
Awb2 0 M Awb
4| mmine 0 x [ 0.00
P 0 *‘__I 2 0.00
HiLEE 0 1 0.00
3 Y 3 500
Awb [ y
T ol |mP2 000
0
Awb2
3| mvk e 0
0
Awbs
Y LB :
3 0
fel Anbr 0
B AE 1 B2 0
0
Awb2
2 | pprtee 0
Awbs g
HEALEE 0
Awb1 g
R E 0 HBRIC L AT ) (N/mid)
0 Al A
FrRIAEATEE 0 A 035 075 075
0 AR 045 0.35 0.25
EA,YVB% 0 [B7E 0.65 0.45 035
= 0 [CiE 0.85 0.65 0.45




RERE C OEE

HOBTERE (i x 1000) BEQUrEFE (mi x 1000)
%’_ F& Asc Ac Awi Awz Aws
ho/D=2M¥3L4E|ho/D>2MMIL+E|ho/D>6DIILHE|  MAIAE(TEE FrBIA% £ B2 FEARLEE
4 0 0 0 0 0 0
;?(_ 3 0 7,418 0 0 531 1,161
ﬁT 2 0 8,018 0 0 750 1,506
1 0 8,520 0 0 378 1,122
4 0 0 0 0 0 0
gE 3 0 3,240 0 6,750 1,725 2,034
Re | 2 0 5,355 0 6,150 810 2,178
1 0 4,800 0 7,425 1,725 2,070
REHEERE Fo 210 |(ke/cr) | B% n 3
Cw Cc Csc Bc RETEEME Fo
7[..?]_ B | (G wisAwi+T we-Awe Fc/20 (Fc=20) 2
R +7 wa-Aws+Awb) {(T c*Ac) /Z W} B c[{(1 sc*Asc) “Z W}-B ¢ N/mm
/3 WB e J Fc/20 (Fc>20)
4 0.00 0.00 0.00
;?(_ 3 043 142 0.00
ﬁT 2 0.29 0.77 0.00
1 0.12 0.55 0.00 Lo ’1
4 0.00 0.00 0.00
'5‘2 3 494 0.62 0.00
R | 2 2.14 0.51 0.00
1 1.78 0.31 0.00
* 7 wi=3, 1T w2=2,T w3=1,T ¢=1(ho/DZ6MIHE0.7)T sc=1.5
BYE=ENETE (BRE) HEEF
- RETE BEuEE ZENES REEEIW B Fw
m kN/m kN kN -
4 0.00 0.00
3 440.40 12 5,284.80 5,284.80 B 4 Fsc
2 440.40 12 5,284.80 10,569.60 08
1 440.40 12 5,284.80 15,854.40
B 1,321.20 15,854.40
REMEEAREE B0 OEE
Eo (2%) Eo (3=) AEo0
él-]j_ BE [ (()/ntd) e | [t 1) /i) - (Csot n+1/n+i FEIEEEER | Max(2xX, 3X)
(Cw+a 1Cc)*Fw | a 2Cw+a 3Cc)-Fsc or(3x)
4 0.00 0.00 0 i3 0.00
;f(_ 3 0.95 0.54 0.667 = 0.95
P 0.66 038 08 i 0.66
1 0.51 0.29 1 = 0.51
4 0.00 0.00 0 i3 0.00
gE 3 358 201 0.667 = 3.58
Re | 2 2.00 1.12 08 = 2.00
1 2.00 1.12 1 = 2.00

* o 1=0.7(Cw=0M1HE1.0),a 2=0.7,a 3=0.5,Fw=1.0,Fsc=0.8




MIKIERRE So DEFE

s . R
Gi (JL—K) O T
GigHtiE (boy RN aDEHE
& g 1.0 0.9 0.8 RI1i
a| ERtE Efzal (X (XEHza2 T#EHzal 1.0 1.0 1.00
b| TEL b=<5 5<b=8 8<b 1.0 05 1.00
Flc| <Uh 08=c 05<c=0.8 c<0.5 1.0 0.5 1.00
[iz1]
| d EXP.J 1/100=d 1/200=d<1/100 d<1/200 1.0 05 1.00
1K
P)f ¢ &7 e<0.1 0.1<e<03 0.3<e 1.0 05 1.00
— f1Z04MD f104HD 0.4<F1E = [E
f | RIED R f2=0.1 0.1<f2<0.3 0.3<f2 10 0.25 1.00
Z0fth
& | smmdk 10 05 1.00
h iﬁg;w 10<h 05=<h<1.0 h<0.5 08 10 1.00
%i Egg 0.8=i 0.7=i0.8 i<0.7 1.0 05 1.00
HNECET
(4;:) i e ERTF4HL | $RTERT, | EOFapRE | 10 05 1.00
ZDfth
| Rk 1.0 05 1.00
K142 So = 1.00
BREEE T OETE
[A] [B] [C]
e
FryHER 2 TiE e
EMIMEF LTS, THIZHELHCFREILTZRZRIL TS 0.7
= HhEEAET N E-(ZKBBTHS 0.9 -
- AEETE, HOZEHIAROHONS 0.9 '
LEREIZEREET 1.0
MBYULHY . HEHIUHHTLS 0.8
AR TCHRIZHOHENDONIE-EYHZ S 0.9
B-HEnEhD NEZHZ UINBLNEER DA ASTINS 0.9 1.0
MEYULH DA, SUILHE TLVELY 0.9
LEIERYET 1.0
REfdHY 0.7
K SEARER ZH=CELHENRIBE =T 0.8 1.0
L 1.0
B EZELZEFRALTUL=AEXREERASD 038 -
= rRIcERYeT 10 '
30ELE 0.8
EMEH 208t 0.9 0.8
20F XK 1.0
SERDERIEIZKDRIENZLLY 0.9
T EiREE NEBDEE, FIEHMNELL 0.9 1.0
YICRERELEL 1.0

REREE T = 0.8




2 W OR

2 & | #RBIFREE BES0 |BREAR BRi46E 1A [BwiEAE| FM2543A
G X(H11T) il i® RE |2 W F BEHE I TRFBEBMHRZR
SR — R BEMZEHEIEE Iso = 0.9 E2EBEER H-8 i
[ Cc F Type Eo So T Z Is CtSo | HI%E
0 1.0 Cw
4 0 1.0 Cc
0 0.8 Csc
0.43 1.0 Cw
3 1.42 1.0 Cc 0.95 1.00 0.8 0.8 0.95 OK
0 0.8 Csc
0.29 1.0 Cw
2| 077 1.0 Cc 0.66 1.00 0.8 0.8 0.66 NG
0 0.8 Csc
0.12 1.0 Cw
1 0.55 1.0 Cc 0.51 1.00 0.8 0.8 0.51 NG
0 0.8 Csc
B Y % | #MRBINFREE RESQ |EBREAA FRF146% 11 A |2HeEAR| Fm2sEsA
G Y (3R F) il & RE |2 W F EBELE THRFBERBMHRR
P RE — R EEMEFIEIER Iso = 0.9 E2EBERER -8 i
[ C F Type Eo Sb T Z Is Cr-So | HIE
0 1.0 Cw
4 0 1.0 Cc
0 0.8 Csc
494 1.0 Cw
3 | 062 1.0 Cc 3.58 1.00 0.8 0.8 3.58 OK
0 0.8 Csc
214 1.0 Cw
2 | 051 1.0 Cc 2 1.00 0.8 0.8 2 OK
0 0.8 Csc
1.78 1.0 Cw
1 0.31 1.0 Cc 2 1.00 0.8 0.8 2 OK
0 0.8 Csc
IN
=)

X730 (HT4T) D1BE, RU2BEAISIEO. 9 TEI>THY. MEESERSN TR, S&. KAZHTHH2RZ
EE T ERGT R REERD . WER I EMREE DRAEZITOIDELNH D,




